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QUESTION 1
You are revising a sales order by manually scheduling the following fulfillment line and splitting it.

Which three order attributes can be updated for the split line? (Choose three.)

Order | Fuolfillment Tiem Tiam Ordered | TOM | Order Status Warehousa Orchestration Unit Shipping Scheduled
Line Description | Quantity Line Process Name Selling Method Ship Date
Prica
8" Bhek
Cazawith Mamual DO0_OrderFulfillment DHL ATR
Blustooth Schadulns (renaricProcsss Maxt day 47242018
74263 42370 | CM6755020 | Kayboard 10 | Ea 1 | Raguired Atlanta 17.00USD | air 19:00

A. Fulfillment Line shipment method

B. Fulfillment Line warehouse C. Fulfillment Line scheduled ship date
D. Fulfillment Line unit selling price

E. Fulfillment Line quantity

Correct Answer: ABE

QUESTION 2

Your company is using Order Management Cloud to capture orders, and has integrated with a legacy inventory
application for order fulfillment. A fulfillment request needs to be aggregated and sent to an external inventory
application.

What step would you perform to aggregate the request?

A. Create a new custom task by using the Shipment Task Layer.

B. Create a new custom task by using the Fulfillment Task Layer.

C. Create a new custom task by using the Supply Task Layer.

D. Configure a fulfillment task routing rule with aggregation criteria based on time limit or total number of lines.

Correct Answer: D

https://docs.oracle.com/cd/E56614_01/scmop_gs/FAOFO/F1171442AN11B74.htm

QUESTION 3

You are creating a sales order and would like to see the sales order as a document. From the actions drop down menu
what should you select?

A. Create Document.

B. Order documents are not supported.
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C. Create PDF (Portable Document Format).
D. Edit Additional Information.
E. Manage Attachments.

Correct Answer: A

QUESTION 4

In which fulfillment process does a specific sales order demand trigger a supply creation, and a firm link is established
between the sales order and the supply?

A. Consignment order
B. Internal Transfer
C. Configure to order
D. Back-to-back

E. Drop Ship

Correct Answer: D

The back-to-back fulfillment process is one in which specific sales order demand triggers supply creation, and a link is
established between the sales order and the supply.

QUESTION 5

Identify the transformation type in which a transactional item attribute is used for transforming a product. The
transformation may be added to the existing product or replace the product on the sales order for a CTO item.

A. Attribute to Product

B. Product to Product

C. Context to Product

D. Attribute to Attribute

Correct Answer: A

An attribute-to-product transformation uses transactional attributes to transform an attribute to an item number. It can
add the transformation to an existing item or replace the item that the source order references. Assume your company
receives orders for an MP3 player that includes a Color attribute and a Size attribute, and that you must use a
combination of these attributes to reference an item number. In the following example, a transformation rule transforms

the Color and Size attributes of the Mini Plus item to the VIS481 item. Order Management displays VIS481 on the order
line.
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